CombiGrinder

Pos | Art-No |Description Total [Pos | Art-No |Description Total
1 | 718-028 |Motor for CombiGrinder 230V with switch + flange 1x 17 | 719-027 |Switch with cover 1x
1 | 718-029 |Motor for CombiGrinder 120V with switch + flange 1x 18 | 722-851 |Capacitor 12uF 240V 1x
2 | 718-020 |Frame 1x 18 | 718-236 |Capacitor 40uF 120V 1x
3 | 718-021 |Foot front right 1x 19 | 718-237 |Switch housing 1x
4 | 718-022 |Foot front left 1x | 20 | 718-238 |Fan blade 1x
5 | 718-023 |Foot back i1x | 21 | 718-239 |Fan cover 1x
6 | 718-024 |Protection cover 1x 722-248 |Converter Schuko/GB-Plug 5A 1x
7 | 718-223 |Rubber foot @22/4 x 10 3x 722-848 |Converter Schuko/CH Typ 12 1x
8 | 718-234 |Screw M4 x 8 3x 722-849 |Converter Schuko/AUS 1x
9 | 718-229 |Hexagon head screw M8 x 25 4x
10 | 718-230 |Hexagonal nut Verbus M8 4x Accessories
11 | 718-010 |Grinding disc @352 cattle/horse for CombiGrinder 1x 715-220 |Grinding paste coarse, stick 510g
11 | 718-040 |Grinding disc @352 PET for CombiGrinder 1x 718-001 |Precision ruler
12 | 718-027 |Socket head cap screw M6 x 30 3x 718-002 |Grinding holder for domed clipper blades
13 | 718-026 |Hexagon head screw M6 x 12 12x 718-003 |Grinding holder for flat blades
14 | 718-222 |Hexagonal nut Verbus M6 12x 718-012 |Grinding paste applicator
15 | 722-813 |Cable ONE/EVO with Schuko plug 1x 718-130 |Grinding powder Pet 1.9kg can
15 | 722-814 |Cable ONE/EVO with US-plug 1x 799-054 |Acutecc hollow gauge (silicon carbide stone)

15 | 722-866 |Cable ONE/EVO with CH-plug 1x 722-811 |Sponge rubber 20/ 20
Juni 2022/ E copyright© Heiniger AG, CH-Herzogenbuchsee / Spare parts list




